

MATERIALS MANAGEMENT DEPARTMENT

٠

101 OLD VENICE ROAD

OSPREY, FLORIDA 34229

TELEPHONE (941) 486-2183

FAX (941) 486-2188

MEMORANDUM

TO: Members of the School Board Lori White, Superintendent Mitsi Corcoran, Chief Financial Officer

FROM: Pat Black, CPPB, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #13-0055 FOR FARM FRESH PRODUCE

Bids to provide 'Farm Fresh Produce' were received from two vendors on June 19, 2012. The bid of Charles Bliss Produce was the best low bid meeting the advertised specifications. This bid is for a period of one year with the option to renew for two additional one-year periods. The funds for these purchases are contained in the budget allocated to the Food and Nutrition Services Department.

Requested by: Beverly Girard "Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 07-17-2012

Fiscal Impact:

Not to exceed \$150,000.00

Funding:

Food and Nutrition Services

<u>Recommended Motion</u>: That the bid of Charles Bliss Produce, to provide Farm Fresh Produce in an amount not to exceed \$150,000.00, be approved as presented.

Tabulation for Farm Fresh Produce - Bid #13-0055

				Charles Bliss Produce		Clark Produce Management	
ltem No.	Description	Unit	Unit Qty	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	Blueberries, 12 count/1/2 pints/flat, First Quality	Flat	120	\$18.00	\$2,160.00	\$17.20	\$2,064.00
2	Bok Choy, bunches, 24 count/case	Case	50	\$15.00	\$750.00	\$15.20	\$760.00
3	Broccoli, 4 count/3 lbs. bags/case	12 lb. Case	500	\$20.00	\$10,000.00	\$12.71	\$6,355.00
4	Cabbage Green, 10 lbs./bag, First Quality	10 lb. Bag	99	\$2.50	\$247.50	\$2.12	\$209.88
5	Cabbage Red, 10 lbs./bag, First Quality	10 lb. Bag	16	\$2.50	\$40.00	\$2.70	\$43.20
6	Carrots, 10 lbs./bag	10 lb. Bag	200	\$3.00	\$600.00	\$2.50	\$500.00
7	Carrots, 50 lbs./bag	50 lb. Bag	50	\$12.50	\$625.00	\$12.50	\$625.00
8	Cauliflower, 4 count/3 lbs. bags/case	12 lb. Case	200	\$22.00	\$4,400.00	\$3.48	\$696.00
9	Celery, bunches	6 Bunches	100	\$3.00	\$300.00	\$2.78	\$278.00
10	Corn on the Cob, 80 count/5-6 inch cobs/case	Case	225	\$22.00	\$4,950.00	\$22.50	\$5,062.50
11	Cucumber, 6" minimum, First Quality	6-Count	1,544	\$1.50	\$2,316.00	\$2.27	\$3,504.88
12	Cucumber, 6" minimum, 50 lbs./case, First Quality	50 lb. Case	168	\$10.00	\$1,680.00	\$8.35	\$1,402.80
13	Grapefruit Ruby Red, 32 count/case, First Quality	Case	250	\$8.00	\$2,000.00	\$17.20	\$4,300.00
14	Grapefruit Ruby Red, First Quality	6-Count	140	\$1.75	\$245.00	\$2.17	\$303.80
15	Green Beans, snipped, 20 lbs./case	20 lb. Case	225	\$22.00	\$4,950.00	\$32.00	\$7,200.00
16	Jicama Sticks, 100 count/1/2 cup, pre-packaged/case	Case	200	\$50.00	\$10,000.00	\$26.50	\$5,300.00
17	Kale, bunches, 24 count/case	Case	1	\$13.50	\$13.50	\$16.00	\$16.00

Tabulation for Farm Fresh Produce - Bid #13-0055

				Charles B	liss Produce	Clark Produce Management	
ltem No.	Description	Unit	Unit Qty	Unit Cost	Extended Cost	Unit Cost	Extended Cost
18	Lettuce, Green Leaf, 24 count/case	Case	250	\$12.00	\$3,000.00	\$12.55	\$3,137.50
19	Lettuce, Iceberg, Shredded, 4 count/5 lbs. bags/case	20 lb. Case	300		\$0.00		\$0.00
20	Lettuce, Red Leaf, 24 count/case	Case	250	\$14.00	\$3,500.00	\$12.25	\$3,062.50
21	Lettuce, Romaine, Chopped, 6 count/2 lb. bags/case	12 lb. Case	500	\$15.00	\$7,500.00	\$14.35	\$7,175.00
22	Melon, Cantaloupe, 9 count/1/2 case, U.S. Grade No. 1	1/2 Case	20	\$7.50	\$150.00	\$6.60	\$132.00
23	Melon, Cantaloupe, U.S. Grade No. 1	2-Count	62	\$1.70	\$105.40	\$2.10	\$130.20
24	Melon, Cantaloupe, chunks, bulk packed, 4 count/1 gal. jars/case	Case	50	\$48.00	\$2,400.00	\$24.60	\$1,230.00
25	Melon, Cantaloupe, pre-packaged, chunks, single serve, 100 count/2 oz. bags/case	Case	250	\$38.00	\$9,500.00	\$34.00	\$8,500.00
26	Melon, Honeydew, U.S. Grade No. 1	6-Count	16	\$10.00	\$160.00	\$11.85	\$189.60
27	Melon, Honeydew, U.S. Grade No. 1	2-Count	33	\$3.40	\$112.20	\$3.95	\$130.35
28	Melon, Honeydew, chunks, bulk packed, 4 count/1 gal. jars/case	Case	50	\$40.00	\$2,000.00	\$26.80	\$1,340.00
29	Melon, Honeydew, pre-packaged, 100 count/2 oz. bags/case	Case	250	\$40.00	\$10,000.00	\$38.40	\$9,600.00
30	Onions, Florida Sweet,10 lbs./bag	10 lb. Bag	150	\$3.00	\$450.00	\$8.20	\$1,230.00
31	Onions, Red, Jumbo, 5 lbs./bag, U.S. Grade No. 1	5 lb. Bag	63	\$2.50	\$157.50	\$4.12	\$259.56
32	Onions, Yellow, Jumbo, 10 lbs./bag, U.S. Grade No. 1	10 lb. Bag	386	\$3.00	\$1,158.00	\$2.51	\$968.86
33	Onions, Yellow, Jumbo, 50 lbs./bag, U.S. Grade No. 1	50 lb. Bag	149	\$11.00	\$1,639.00	\$12.55	\$1,869.95
34	Oranges, Florida, 125 count/case, U.S. Grade No. 1	Case	1,500	\$10.00	\$15,000.00	\$13.00	\$19,500.00

Tabulation for Farm Fresh Produce - Bid #13-0055

				Charles Bl	iss Produce	Clark Produce Management		
ltem No.	Description	Unit	Unit Qty	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
35	Peppers, Green, Large, minimum 2 1/2", U.S. Grade No. 1	Case	250	\$8.00	\$2,000.00	\$11.40	\$2,850.00	
36	Peppers, Green, Large, minimum 2 1/2", U.S. Grade No. 1	Dozen	900	\$3.50	\$3,150.00	\$3.10	\$2,790.00	
37	Peppers, Red Bell, U.S. Grade No. 1	Dozen	100	\$6.00	\$600.00	\$4.20	\$420.00	
38	Potato, Fingerlings, 20 lbs./case, U.S. Grade No.1	20 lb. Case	100	\$19.00	\$1,900.00	\$32.00	\$3,200.00	
39	Potato, Red, Size B, 50 lbs./bag, U.S. Grade No.1	50 lb. Bag	350	\$11.00	\$3,850.00	\$12.50	\$4,375.00	
40	Potatoes, White Baking,10 lbs./bag , U.S. Grade No. 1	10 lb. Bag	130	\$2.50	\$325.00	\$3.28	\$426.40	
41	Potatoes, White Baking, 50 lbs./bag, U.S. Grade No. 1	50 lb. Bag	360	\$11.00	\$3,960.00	\$16.40	\$5,904.00	
42	Radishes, 12 count/2 lbs. bags/case	24 lb. Case	50	\$10.00	\$500.00	\$11.30	\$565.00	
43	Spinach, 4 count/5 lbs. bags/case	20 lb. Case	300	\$14.00	\$4,200.00	\$14.85	\$4,455.00	
44	Squash, Yellow, 5 lbs./bag, U.S. Grade No. 1	5 lb. Bag	200	\$2.00	\$400.00	\$2.23	\$446.00	
45	Squash, Yellow, 20 lbs./case, U.S. Grade No. 1	20 lb. Case	75	\$8.00	\$600.00	\$8.00	\$600.00	
46	Squash, Zucchini, Fancy, 5 lbs./bag, U.S. Grade No. 1	5 lb. Bag	350	\$2.00	\$700.00	\$2.23	\$780.50	
47	Squash, Zucchini, Fancy, 20 lbs./case, U.S. Grade No. 1	20 lb. Case	200	\$8.00	\$1,600.00	\$8.00	\$1,600.00	
48	Strawberries, 8 lbs./flat, U.S. Grade No. 1	8 lb. Flat	800	\$7.00	\$5,600.00	\$9.50	\$7,600.00	
49	Tangerines, 120 count/case, First Quality	Case	900	\$11.00	\$9,900.00	\$16.50	\$14,850.00	
50	Tomatoes, 6 X 6, 10 lbs./bag, U.S. Grade No.1	10 lb. Bag	450	\$3.50	\$1,575.00	\$4.40	\$1,980.00	
51	Tomatoes, 6 X 6, 25 lbs./case, U.S. Grade No. 1	25 lb. Case	1,200	\$7.00	\$8,400.00	\$11.00	\$13,200.00	

Tabulation for Farm Fresh Produce - Bid #13-0055

		Charles Bliss Produce Clark Produce Management						
							.	
Item No.	Description	Unit	Unit Qty	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
52	Tomatoes, Cherry, U.S. Grade No. 1	Pint	1,500	\$0.50	\$750.00	\$0.83	\$1,245.00	
53	Tomatoes, Cherry, 12 pints/per flat, U.S. Grade No. 1	Flat	350	\$8.00	\$2,800.00	\$10.00	\$3,500.00	
54	Tomatoes, Grape, U.S. Grade No. 1	Pint	750	\$0.50	\$375.00	\$0.83	\$622.50	
55	Tomatoes, Grape, 12 pints/flat, U.S. Grade No. 1	Flat	250	\$8.00	\$2,000.00	\$10.00	\$2,500.00	
56	Watermelon, 2 count/box/approximately 18 lbs. each, U.S. Grade No. 1	Box	1,338	\$5.00	\$6,690.00	\$8.00	\$10,704.00	
GRAND TOTAL			\$163,984.10		\$181,689.98			
SUMI	MARY BID SHEET							
А	TRANSFER TO THIS LINE THE GRAND TOTAL FROM ABOVE			\$163,984.10		\$181,689.98		
В	FIXED FEE PER FULL UNBROKEN CARTON	Carton	12,000	\$2.50	\$30,000.00	\$3.50	\$42,000.00	
С	FIXED FEE PER FULL BROKEN CARTON	Carton	7,500	\$1.50	\$11,250.00	\$3.00	\$22,500.00	
D	TOTAL COST PLUS FIXED FEES FROM LINES A, B, AND C			\$205	,234.10	\$246,189.98		
Contr	act	Charles Alan Bliss James Kripp		s Kripp				
Addre	ess			3119 3rd /	Avenue East	3037 South McCall Road		
					Tampa, FL 33605 Englewood, FL 34		d, FL 34224	
Phon	9			800-215-4236 941-474-1471		74-1471		
Fax					813-248-6611 941-473-0108		73-0108	
Federal I.D.				590732461		454350697		
Email			blissproduce@verizon.net jimk@shecklerp		erproduce.com			
				Recorded by	: Peggy Long \	Witnessed by: 、	Joyce E. Haney	